Name: ESMI Applied Math
Due: 06/08 Worksheet 2

Problem 1. Compute the dot product between the following vectors or state if the dot product
cannot be computed.

-2 0
(@ u= [7} and v = [10] v-V: 0 -70 1
1/2 2 - 69

0
(b) u= [_ﬂ and v = {10] Not possible  because the vectors ast viet
2 e same gize.

Problem 2. Compute the matrix-matrix product between the following matrices or state if you
cannot compute the matrix-matrix product.
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Problem 4. What condition must a matrix A satisfy in order for you to be able to compute the

matrix-matrix product A2?
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Problem 5. Compute the eigenvalues and eigenvectors of

)

J¢+([ f;

([

: 4 -X-9h+
= A*-SA
= A(A-9)
eigenvalves: %=0 S
eigenwecter  for  AO:
[g]:(A.xI)v

(121
2 30

L

O:

=7

set  vys)

(o]
|

[

)

Cl- >~)(+ ‘x)* 2-2

A - 4

?:}Cnvcﬂ-ol' fer MA=6:

(23 :3]: [ 20) [
(o3[ ]H

o: -1- +zv1L

20f 2



